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3. Enter the Question Booklet Set and Number on the OMR Answer-sheet and also darken the

corresponding bubbles with BLACK FINE TIP BALL PEN

Do not put any marks anywhete in the Question booklet ‘on the OMR Answer-sheel

5. There are 100 objective lype questions in all of 4 Marks each. Before attermpling the
queshions. check that the Question-booklet i1s complele. In case any guestion/part of quashion or
page s missing, inlerm the Centre Supenntendent within 5 minutes of the start of the
examination. After that no claim will be entertained.

6 Each question is followed by four alternative responses listed as A), B}, C) and D) out of
whivi only one is conect /nosl coriecl. I case, all the ovals @re leit blank, tiere will Le 3
deduction of marks @ 1 mark for each such unattempted question. Fifth oval 'E' i
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question to avoid negative marking.
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8. The candidates are permitted to carry histher question booklet after completion of the
examination but OMR Sheets are compulsory required to be deposited with the invigitator.

9. A candidate who create disturbance of any kind or changes his/her seal or is found in possession
of any paper possibility of any assislance to him/her or unfair means will be expelled from the
examination by the Centre superintendent/Observer, whose decision shall be final. ("Expulsion”
for this purpose would mean cancellation of the entire examination of the candidate).

10. THE CANDIDATES ARE NOT PERMITTED TO CARRY ANY TELECOMMUNICATIION
EQUIPMENT SUCH AS WATCH, CELLULAR PHONE, WIRELESS SET, SCANNER ETC.

INSIDE THE EXAMINATION HALL.

11. For rough work, use only the blank space of the Question booklet.

12. The candidates will not be allowed to leave the examination hall during the examination,

13. Borrowing any material is not allowed.

14, The answer-sheet is designed for Computer evaluation. If the instructions are not followed
properly, the candidate alone shall be responsible for the resultant loss.

15. Smoking/Refreshment shall not be allowed in the Entrance Test Centre/Hall,

16. Male candidates shall affix their Left Thumb Impression (LT1) while Female candidates shall affix
Right Thumb Impression (RTI) al the prescribed place on the OMR answer sheet, Question
Booklet and attendance sheet. The Centre superintendent shall also obtain and retain it for
record,

17. The candidate must fill both the queslion booklet number and OMR answer sheet number on the
attendance sheet.

18. No candidate shall be allowed to leave the cenlre belare 1.00 PM,
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I. Barriers of communication are excepl
a)  Lack of privacy
by Speech defects
€} Peacelul environment
d)  Lack of interest

|

Anagent that has the power 1o kill baeteria
a)  Antisepli

bY  Bacteriostasis

) Racterionsint

d) Racieriocide

Ihe importani aspeet o aseptic techniques is
al  Hand washing

b Gown lechniques

¢} Use mask

) Use of ploves

4 Anagent which kills pathogenic bacteria is called
a)  Fomite
b)  Ascpsis
¢)  Disinfectant
d)  Bacteriosiat

5. Most reliable method of measuring body temperature is
a)  Oral
by  Axillary
¢} Rectal
dy  Elbow

6. Digestion word means
a) Buring of food
by  Oxidation of food
c)  Hydrolysis of food
d) Breakdown of food

7. Arthritis is the disease of

a) Skin

b) Kidney'
<) joints
dy liver

8. The meaning of barrier nursing is
a) todestroy pathogzens
b) te develop resistance against pathogen
¢) torestrain pathogen to a known limited space
d) None of the above

9. Which out the following does not help in disinfecting
water?
a) Filtration
b) Chlorine tablets
¢}  Alum
d) Boiling

10. Which of the following is a recommended method for
sterilizing surgical instruments?
2)  Wiping with alcohol
b) Cleaning with soap and water
c) Autoclaving
d) Soaking in disinfectant solution

11. The process of conversion of excess of carbohydrates into
fat is known as
a) Lipogenesis
c) Glycogenesis

b} Glycogenolysis
d) Mone of these

il

=

12. The keratomalacia is caused due to the deficiency of

by Vitanun B
d) Vitamin K

n) Vitamin A
c)  Vitumin B12

Calcimm deficiency in the body ocenrs in the ahsence of
W) Vitamin B h)  Vitanun F
¢) Vitmmin € d) Vitarmin B

14. Which part of the brain is associated with hearing?

a)  Occipital lobe
by Temporal lohe
¢} Paricial lobe
d)  Frontal fobe

Cioitre nceurs because of deficiency of which substance
diet?

a) Sodium by Magnesium

c) Calcium d) Iodine

. Which of the following is not a Bhiomedical waste?

a)y  Animal waste h) Micichiological waste
¢) Chemical waste d) Domestic waste

1 7. The upper chambers of heart are known as

a)  Atrig

b)  Ventricles
¢)  SA node
d) AV node

18.0 positive blood group nat available in blood bank, which

blood group may be given Lo patient
a) Negalve b) AR positive
c) A posilive d) B Positive

19. Which of the following area has the lowest chance of

producing a biomedical waste?
a) Hospitals
¢} Laboratories

b) Clinics 4
d) Agricultural land

‘
20. Which of the following nutrients helps for tissue repair?
a) Vitamin b) Fat
¢) carbohydrate d) Protein

21. Oxidation number of Mn in KMnO,
a)+6 b) +5
<) +4 d) +7

22. What is the JUPAC name of the following
CH3 -~ CH---CH2—--CH2—-CH2—-CH3

I
CH3

a) 3-methylpentane
¢} 3-methylhexane

b) 2-methylhexane
d) 5-methylhexane

23. Which of the following is/are type(s) of hydrocarbon

a) saturated hydrocarbons
b) unsaturated hydrocarbons
c) aromatic hydrocarbons
d} all of the above

24. What is the number of 4° carbon atoms present in the
structure

CH;

b)2
d) 5
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25. The molality of a solution having 18p of glucose
{molecular weight — 180) dissolved in 500g of waler is:
a2 m Wyl m
¢ 2.2m Jy0s5m

26. The Van't Hoft factor (1) for & dilute agueons solulion of
the strong electrolyte banum hydroxide s

a) 0 (AN

c)2 dy 3

27, Standard electmde potentinls of three metals XY, 7 are
0.5V, -2 87 V and -0 44 V regpectively. The reducing

power of these metals are

MY =Z=X NX>Y=>Z

cIX>72>Y d)Y=2X>Z
28, The rate constant has unit 7', The order is:

a)o hy 1

c)2 3

29, The oxidation numbers of Niin [WNi (O] and [Ni
(CNG)T respectively are
a) 0 and +2
¢) +2 and 0

L) 0 and -2
dyOand 0

30. Al subsiances that conduet eleetricity in aqueous
solutions are called
a) clectiolyics
<) buflers

b)Y acids
d) catalyst

31. The most common oxidation state of lanthanide is:
a) +4 b) +3
c) +6 dy+2

32. What happens when chloroform is lef open in air in the
presence of sunlight?
a) explosion takes place
b} phosgene, a poisonous gas is formed
<) polymerization takes place
d} no reaction takes place

33. Wood spirit is known as
a) cthanol
¢} propanol

34. This reaction is called?
o]
u CHO

i R
W ~c i, | ,J
~F vl st ‘\\‘_,5

a) Etard’s reaction b) Stephen reaction
c) Rosenmund reduction d} Gatterman — Koch reaction

35. Which one of the following alkyl halides has the lowest
boiling point
a) CH3 —-CH2—CH2—CH2CI
b) CH3—CH--CH2—Cl|
|
CH3

b} methanol
d} none of these

CH3
l

¢) CH3 -~C-Cl
|
CH3

d) CH3—CH2—CH2—CH2---CH2Cl

6. Which of the fallowing formulae is correct for alkene

n) Ca bl s by €, 1y
€) Cr o o ) Co Hian 3
17 Which ane of the following is nol & primary amine:
a) CTIY NPT
By CHEVeeaf P2 M2

Y CH el Flaeat " 24220 H

MH2
CH3
|
d) CH3=—=C-—~NH?
L]
|
CH3 .
18, Hinsherp's reagent is used (o distinguish hetween
) mnines by aleohnls
¢ acidy )y amniedes
39. Which of the follawing is not an artificial sweetner?
) suerose b saceharin
c) sucraiose d) alitame
40, In nucleic acids, the nucleotides are linked by
#) ester linkape b} mmide linkage
¢} peptide linkape d) glycosidic linkage
41, Which of the following is not a fundamental physical
quantity?
a) length b) mass
¢) time d) force
42. At resonant frequency the impedence in series LCR circuit
is:
a) maximum b) minimum
c) zero d) infinity
43. The polarity of induced emf is given by
a) Ampere’s circuital law b) Biot-Savart law
c) Lenz's law d} Fleming’s right handrule
44. Temperature at which a ferromagnetic material becomes
parammagnetic?
a) neutral temperature b) curie temperature
c) inversion temperature d) critical temperature
45. A portion of a conductive wire is bent in the form of a
semi-circle of radius r as shown below in figure. At the
centre of semicircle, the magnetic induction will be
]
i )
—— & Ly
a) zero b) infinity -
¢) po / 2w x ifr gauss d) po/4x x irtesla
46. A and B are two bulbs connected In parallel. If A is
glowing brighter than B, then
a) Ra=Rs b) Ri<Rg
c) Ra=Ry d) none of thess
47. Which of the following radiations has the least
wavelength?
a} Garma rays b) X - ray
c} Microwave d) Radiowave
2
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48 i T i
. WII:EE‘II ol the |u||nw|||!l ﬁ,_-_-un- shows the correet
cquipotental surface of a system of two positive chnrges?

[ .

DY e Y )

e s ™ A i
() B

49, Mentify the mismateh in the following
1) My jrin
Y o FONEView CONEAVE Mo
¢} Hypermietropin
d) Astigmatism -

CONCPY e 1|"I'|'i

CIIvey Tl.'nf':
cyhindrical lens
50. A couple produces:
1) rodeiional motion
) neviber a oo b2

a) linear mintion
¢) both aand b

S1.According to Boolean pastulate which is wiong?
aY0+A = A oA D
A A dy LA = A

52, In helivm nueleus there are
&) 2 protons and 2 electrons
b) 2 nevtron. 12 proton and 2 electron
¢) 2 proton and 2 neuiron
d) 2 positron and 2 proton

53. If an cleciron in hydrogen atom jumps from an orbit of
level n = 3 to an orbit of level n = 2, emitied radiation has

a frequency. (R = Rydberg's constant, C = velociiy of

light)
a) 3Rc 127 b) Re/25
) 8Rc /9 d) 5Rc /36

54 In an AC circuii containing only capacitor (ic, purely
capacitive), the eurrent?
a) leads the voltage by 180°
b) leads the voliage by 90°
c) lags the voltage by 90°
d) none of these

55. The magnetic susceptibility is negative for
a) paramagnetic material only
b) ferromagnetic maierial only
¢) paramagnetic and ferromagnetic materials
d) diamagnetic material only

56. Match Column | and Column II and choase carrect mailch
from the given choices

Colamn | Column II
i) Root mean square speed of gas molecules  p. 1/3 nmv 2
ji) pressure exerted by ideal gas IRTIM
* iii) Average KE of a molecule r.52RT
s. 3/2 KgT

iv) Total energy of 1 mole of 2 diatomic gas
a)i-r,ii—q, iii - pyiv—8
b) i —r, ii — p, fii =5, i¥v~¢
¢)i—q,ii--riii—siv-p
dyi—q,fi—p,iii—siv-r

57, According 1o Kepler's taw of planctary motion, if T

ents time period and ¢ i< orbital radns then for two
plimets these are related as
a2 1" ey fr
V) (g e )

repre s

!I] I/ t,'
d)T7T

ryirg
n'irg

Ill‘il alie
energy (K)

SR Tdentify the graph depicting, varintion of the
|rn ih bonf an electeon with jts kinetie

A %

54, Which of the following pives the value of magnetic fisld
due to o small current element according to Biot-Savart's law?
a)i A1 Sin by i41Sin0
¢ 4 r

djpo  iAlSinG

——

K

c) pg 1 Al Sind

n 4 ¢’

60. The average power dissipated in a pure inductor is

a) VI 4 b) % VI

<) d) VI o
61. Which is the primary CO- fixation product in C, plants

a) PGA b) PEP

c) DAA dj RuBP
62. Mach the following

1. Complex il - i) NADH dchydrogenase

2. Complex IV - ii) cytochrome be;

- 1ii) Succinate dehydrogenase

3. Complex 1
- iv) cytochrome ¢ oxidase

4. Complex Il
a) 1 —idii, 2 —iv, 3-1i, 4 i
b) 1 —iv, 2 —iii, 3~ i, 4—ii
) 1 —iii, 2—iv,3 - L 4 —ii
d) I —iv, 2~ i, 3-iL, 4=
63. acts as an antagonist to GAs
a) auxin b) ethylene
¢) eytokining d) abscisic acid
64. The volume of air that will remain in the lungs after a
normal expiration
ayic
¢} VC
65. The hepatic portal vein carries blood from intestine to the
before it is delivered to the systemic

b) FRC
d) TLC

circulation
a) heart b) liver
¢) kidney d) pancreas
3
.
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O6. Statement |- Conditional reabasorpiion of Na b and waier
Lakces place i DOT
Stotement 11 _'\nj-inlu'n‘.in Misa pnl\:rl‘"!l VRSO EIFIC T
W) - Correct, 1
13) hoth are corrert
¢ both are ineoirect
DY Coreet, T mncorreet

mesHrect

67, The conditron of Inflammntion of jomits doe (o
mecunlation of uric nend coystals s kpown as

h) tetany

1) e .],mrlwi.\?

n) Aethrits

CYpon

uf. MName the visiblo eoloured portion of the human eye
ny leis h) retinn
<) Puml d) Comea -

09 Glueaeon produced by the a cells of human pancreas isa
n) hypoglycemic honmone
1) thyroid hormone
el hyper caleenne hommone
d) hyperglycemic hormone

70. Exine of pollen grain is made up of
b) cellulose
d) pectin

2) hemicellulose
¢} sporopollenin

71. Chronie disorder affecting lungs in which alveolar walls
are damaped is:
a) asthia
¢} librosis

b) empliysema
d) none of these

72. Progesierong is essential for the maintenance of:
a) myoemetrinm b) ectaderm
¢} endometrium dd) perimetrium

3. Identify the autosomal dominant disorder
) myotonic dystrophy b) sickle cell anaemia
¢) colour blindness d) thalassemin

74. The unequivocal proof that DNA is the genctic material
came from the experiment of
a) Avery, MaclLeod and McCarty
b) Hershey and Chase
¢) Mesclson and Stahl
d) Maurice Wilkins and Rosalind Franklin

75. Heroin is commouly called as
a) Smack
c) Marijuana

b) Opioids
d) Cocaine

76. Statemient | - Cyclosporin A used as an
immunosuppressive agent in organ-transplant patients is
produced by the yeast Monascus purpureus,

Statement 11 - Saccharomyces cerevisiae is used for
commercial production of ethanol.

a) 1 = Correct, 11— incorrect

bj both are coirect

c) both are incorrect

d) Il — Correct, | — incorrect

77. The genes cryiAc and cryllAb control
2) coim borer b) cotton bollworm
¢) lepidopterans d) tobaceo budworm

78. The first restriction endonuciease is
a) Bam HI b) Hind 111
¢y Hind I d) Pvul

79 The tatural reservoir of phasphorous is

a) sl h) atmosphere
©) peenn i) reck
RO Most important eavse deiving anials and plants 1o

A IRIGTNE

aY Habatat boss aned frnpionantation
By Orees ceplaitatinn

cp Alen species invasions

Ay Co-exting tions

Onestion pomber 81 to 84 are find correct word and i in

the blanks
&1, The cshop doesa’t sell new books. Hoonly szlis old

a of them

b * ones
€. aome
d. then
82, 1 you wani samie apples, 'l et you _at the shop.
A nny
b
c. one
d.  some
8. The babysitter will stay there _ we get home
n.  hy
b. for
c. lo
d.  until
84. Are these balls sale?
a. al
b, for
c. in
d o

Question number 85 to 87 are find the correct alternative
word or synonym

85. Entire
a.  Whole
b. Half
¢. Kind
d. call
86. Mistake
&. Common
b. Endless
c. Emor
d. narrate
87.emotion
a. foe
b. feeling
¢. clear
d.tall

Question nnmber 88 to 89 are find the correct opposite
words.

38. Arrive
a. depart b. future
c. dismiss d. sca
89, natural
a. right
b, releass
c. help

d. artificial
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Question number 90 to 91 are find the correct one word
substitution

90. One who offers his service of his own free will

a plumber
b, architect
€. prlot
d volunteer
91, An official nimbering of the population
N censns
b, prolitics
. revolution
o, democracy

Question number 92 (o 95 are find (he corvect word.
92 Which is correct

a sylubus

b, Sillabus

¢ Silabus

d.  syllabus

3
!

- Chnose the correct word
a. Wulen
Wolen
.  Woollen
d. wollen

94. Which is correct
a. Gramar
b.  Grammar
¢.  Gremer
d.  grammer

95. Choose the correct word
a. diarrhoea
b.  dirchoea
c. dichreoa
d. dairrecha

Question number 96 to 97 are fill in the blanks.

96. Have you the car?
a. washes
b. wash

c. did wash
d. washed

97. My birthday on a Sunday next year,
a s
b. were
c.  was
d.  has

Question pumber 98 to 99 are find the active and passive
voice.
98. Bell invenied the telephone.
a.  The telephone was invented by Bell.
b.  The telephone were invented by Bell.
c.  The telephone is invented by Bell.
d.  The telephones is invented by Bell.

99 Man makes machines.
a. Machines were made by man
b. Machines are made by man
¢.  Machines are makes by men
d.  Machine is made by man

Question number 100 is find the direct- indirect speech.

1n He said |, 1 am directing a new film."”
0l He sind that [ am directing o new film.
b e said that he is dirceting a new film,
. Hesmd that he were direeting a new film.

o He said that he was directing a new film,
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